(Qurz, é &
Msir\uj an elehic drill b male o pilo* hole in a 2x%
reguires 35 W of power. A cerlan deill has a 12V batlery
and an armature resishne of 0.90 (L,
a) How wuch back EMF is j,memrf‘eo{ while o(n’ll;(rj fle pilot lole ¢
\o.) TF e drill ]x}s JaMma( (camw/’ rof'x/-e,) and. The wser holds
down Al '\'rig;;of it i possible br A motor burn out (a/amyy(
by heat). Explom why fhis happons. (2 yoirks)



MSN\\j an elehic drill b malke « pilo*’ hole i a 2x4
reguived 85 W of power. A certam deill has a 12V batlery
and an armature resshne of 0.80 (0,

a) How wuch bach EMF is }memnl‘eo{ while o(nll@ Ale pilot kole ¢

p=T"v Voad = €-Tr

T-(7 - XEG = |2v - (10,3/\)(0.30@)
r 0.30.0 - S,X V/

= 0.3 A

\o.) I'F fhe drill ]M(S JAMma( (cauu,o/’ fo(’Z'LG) and. e wser holds
down Al "T"jf“ 1 s po»’n'ble, br tw motor burn outf (a/amy/(
by l'lca,}’), EK’[/A"\ wl«/u s ha”on;. (Zvol'lﬂ)

e TF e pmotor cannot durn e "‘;_, ;orwm%evt
¢ /Uo back EMF means ﬂow
- More curvent means more lheaf ;,evwm/—ea( Ia/ internal resictance.



